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IEFN584E 2,435 82 2,818 40 30 1 9 1.6 - - -
IEFN594 2,654 87 3,122 47 40 4 3 1.8 — — —
HEFN604 2,401 63 2,799 59 45 4 10 2.5 — — —
HEFN614E 2,471 83 2,802 72 65 1 6 2.9 — — —
I FN624 2,621 78 2,840 70 59 2 9 2.8 — — —
HEFN634 2,694 80 3,128 69 53 3 13 2.6 — — —
PR 2,839 93 3,259 60 47 4 9 2.1 — — —
e 24 2,926 100 3,469 67 53 6 8 2.3 4 98 | 102
SR 3,234 94 3,742 69 56 7 6 2.1 11 99| 110
SERASE 3,336 109 3,903 51 41 6 4 1.5 7 66 73
PRl 54 3,169 115 3,743 44 34 5 5 1.4 3 64 67
SERL6 4 3,096 82 3,665 32 26 2 4 1.0 6 42 48
SERCTAE 2,928 100 3,492 34 25 2 7 1.2 4 44 48
YRk 84 2,944 7 3,407 36 28 5 3 1.2 8 57 65
RO 3,118 90 3,626 42 27 2 13 1.3 2 57 59
Rk 104 3,805 80 4,389 37 24 5 8 1.0 1 44 45
PRk 114 3,904 65 4,443 29 22 2 5 0.7 2 37 39
SRR 124 4,294 79 4,877 41 30 6 5 1.0 3 46 49
Rk 134 5,115 78 6,163 89 71 8 10 1.7 0] 124 124
-l 144 5,759 61 6,958 133 | 103 16 14 2.3 51 173 178
SERE L5 6,127 79 7,352 116 | 103 10 3 1.9 5| 142 147
FEpk 164 6,512 61 7,752 181 | 133 22 26 2.8 2| 227 229
SERRLTAR 6,519 63 7,839 179 | 135 20 24 2.7 2| 232 234
SRR 184 6,653 62 8,071 182 | 131 20 31 2.7 31 220 223
Rk 194 6,525 43 7,852 181 | 119 24 38 2.8 3| 243 | 246
RZ204F 6,509 43 7,664 165 111 20 34 2.5 21 220 222
SRR 6,324 47 7,524 179 | 122 28 29 2.8 21 230 232
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